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Q1.Where was the bronze figure of dancing girl was found? Fcgehl &gt &1 e fo T
el & SITCd §IT? (10¢1=10)

a) Lothal (efreret)  b) Mohenjo daro (Higssilgal)  ¢) Egypt (3fied)  d) None of these
(37T & Ig o ).

Q2) Who was the god of Indus valley civilization? T&e] €T H=relT &7 SadT leT AT?
a) Shiva (ram) b) Kalan (yama) &elr) a1AT)  ¢) Rama (I1#T)  d) Vishnu (fasoy).

Q.3 There are primary colours| JT2f&e 3@ Hr TEAT @I &

ayl b)3 )5 d)4

Q.4) We can make green colour by mixing.
&H & 19T §AT Fohl &, & THHOT I

a) Red+ yellow (aTeT + f0aT) b) red+pink(eTer +f9&) ¢) blue+yellow (siterr + drelm)  d)
blue+red(=HTeT + @Tdl).

Q.5) Triangle is a. T3y vah, gl
a) form (®1#) b) shape(9)  c) space(¥E)  d) value(de).

Q.6) We can make a drawing on . g fd9&RI # T6d g.-
a) Wall@ar) b) paper (@m@TsT) c) cloth (#9sT)  d) all of these.(3TRIFd T3f).

Q.7) Red colour is a. &l W §, I
a) cool colour (38T  b) hot colour (I {1 ¢) secondary colours (GERT TN  d)

none of these(E=T3 & HIg & 18)).




Q.8) Can we make a beautiful art piece using waste material? gﬂa?orq'a’nﬁaq-—grﬁw
e T o1 0T oY gehed §

a) No (71&) b) sometime (T Fa) c) never (&3 =1g) d) yes(&).

Q.9) We can use HB pencil to. &7 T« 9fer &1 &1 ford forw st a3 g

a) paint b) draw c¢) shading d) colour.

Q.10 Russet colour is belongs from which family.¥&e 31 fFa aRaR & g

a)Secondary family b) primary family c) tertiary family d) coordinates
family.

Q.11) What is line? How many types of lines are there? 3@ F41 §? Y@TT fohdet YehI hr

Bl & AT Y| (5)
Or

Define monochrome paintings and multi colour painting. Fﬂﬂﬁaﬂﬂﬁawmagﬂﬂ'&

RFehaT &Y STTEAT FY|

Q.12.) Draw the picture of " fish composition"outline with black sketch colour it. @Tel Tohar
I TRAET o TTT AG eIl o TAToTeT T TOF FAT0 3R T[T | (15)

Or
Draw geometrical design in rectangle and colour it.

3 & SAATEH 38T §eT1U 3R 3T WA |

Q.13) draw the land space with mountains, Huts, trees, birds and animals, rivers and
colour it. 9grst Siafsat Us aieil ey uighdl 3R AT afge TReed =10 3R T |
(20)
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General Instructions:
(1) The question paper is divided into four sections

SECTION A Reading (15 marks)
SECTION B Writing (15 marks)
SECTIONC Grammar ( 15 marks)
SECTION D Literature (35 marks)

(2) All questions are compulsory

(3) You may attempt any section at a time

(4) All questions of a particular section must be attempted in the
correct order

(5) Marks are indicated against each question

SECTION- A(READING)

Q1. Read the following passage and answer the questions given below it in the context of the
passage (1x5=5)

| was very fond of the old soldier in our little town. He had only one leg, having lost the other
somewhere in Assam in 1942. He used to tell me about his adventures. He told me that he had run away
from home to join the army. He had experienced his first battle in the Libyan desert. Out of his dozens
of war stories, the one | liked best was the one of his escape from a Japanese prison-of-war camp in
Burma. He told me again and again how he walked two hundred miles in two weeks. On the way he was
bitten on the toe by a poisonous snake and he had to cut off part of the toe in order to survive. But by the
time he got to an Indian camp the wound had turned septic and the leg had to be amputated. He is,
however, quite contented with his fate.
1). The author was very fond of the old soldier because

a) he had lost one of his legs in war

b)he used to tell the author about his adventures

c) he was contented with his fate

d) he had been to many countries

i1).Why did the old soldier repeatedly tell that he walked two hundred miles ?
a) He ran way from home to join the army
b) He had to cross the Libyan desert
c) He had to escape from a prison-of-war camp
d) He was a strong soldier
1ii). The story of the old soldier that the author liked most was that about
a)his running away from home to join the army
b)his first battle in the Libyan desert
c)the loss of his leg in Assam
d)his escape from a Japanese prison-of-war camp.
iv). The old soldier, according to the author, was
a)unhappy about his life
b)satisfied with his fate



c) angry about his late
d)disgusted with his misfortune
V).The soldier’s leg had to be amputated because
a)he had walked two hundred miles in two weeks
b)he was wounded in war
c)the wounded toe turned septic
d)he was shot in the leg while escaping from the Japanese camp.

Q2. Read the given passage and answer the questions that follow: (1x5=5)
The Indian Premier League (IPL) is a professional Twenty20 cricket league in India contested during
April and May of every year by 8 teams representing 8 cities of India. The league was founded by the
Board of Control for Cricket in India (BCCI) in 2008, and is regarded as the brainchild of Lalit Modi,
the founder and former commissioner of the league. IPL has an exclusive window in ICC Future Tours
Programme.

The IPL is the most-attended cricket league in the world and in 2014 ranked sixth by average attendance
among all sports leagues. In 2010, the IPL became the first sporting event in the world to be broadcasted
live on YouTube. The brand value of IPL in 2018 was US$6.3 billion, according to Duff & Phelps.
According to BCCI, the 2015 IPL season contributed X11.5 billion (US$182 million) to the GDP of the
Indian economy.

There have been eleven seasons of the IPL tournament. The current IPL title holders are the Chennai
Super Kings, who won the 2018 season.

1). Indian Premier League is the brainchild of ?

i1). How many seasons of IPL have been played till 2018?

iii). What is the meaning of the word “professional” in the passage?

iv). In which year did IPL become the first sporting event to be broadcasted live on an online platform?
v). What was the brand value of IPL in 2018 according to Duff & Phelps ?

Q3. Read the poem given below and answer the questions that follow: (1x5=5)
O say, what is that thing called light,
Which I can never enjoy?
What is the blessing of the sight?
O tell your poor blind boy!

You talk of wonderous things you see,
You say the sun shines bright;
| feel him warm, but how can he
Then make it day or night?

My day or night myself | make

whenever | sleep or play;
And could I ever keep awake
With me it were always day

With heavy sighs | often hear
You mourn my hapless woe;
But sure with patience | may bear
A loss | never can know

Then let not what | cannot have
My cheer of mind destroy;
Whilst things I sing, | am a king
Although a poor blind boy.

a) What can the blind boy never enjoy?
b) What can the blind boy feel but cannot see it?



c) Explain the meaning of the line “my day or night myself I make”.
d) What message does the poet convey in the last stanza?
e) Give a pair of rhyming words.

SECTION - B (WRITING)
Q.4 Write a letter to your Principal requesting him to allow you to change your section. (5
marks)

Q.5 Write a paragraph on any one of the following: (5 Marks)

). Importance of trees ii). My Hobby iii). My favorite subject
Q.6 With the help of the given hints develop a story. (5 Marks)
A shepherd boy looked after a flock of sheep ............. cried wolf for fun ............... neighbours
gathered in a large number .................... nowolf............ the boy laughed at them .............. One
day wolf really came, the boy cried for help ............ neighbours did not believe him ......... the wolf

killed the boy and his sheep.
Section — C ( Grammar)

Q.7 Fill in the gaps with the appropriate form of the verbs given in brackets (1X4=4)
a) When I am tired, I enjoy ............ television ( watch)
b) This house was ............. about 10 years ago ( build)
c) Somebody has .......... the door ( break)
d)Abird ......... through the window ( fly)
Q.8 Arrange the jumbled words into meaningful sentences (1X4=4)
1. bird/national/is/ peacock/the/our
2. person/a/healthy/exercise/makes
3. festival/Holi/the/colours/is/of
4. the ship/camel/is /called/desert/of/the
Q.9 Use the phrases given below and fill in the blanks (1X3=3)
Set down, set aside, set out

a) Weshould ......... a little money every month.

b) B) They ............. on the last stage of their journey.

c) C. Whydon’tyou......... your ideas on paper?
Q. 10 Complete the sentences using ‘cannot’ and ’> have to/ has to’
(1X4=4)

a.She .............. accept this decision, she ..................... question it.

b. Old people often ............. hear very well, they .................... use a hearing aid.

Section-D ( literature)

Q.11 Read the extract and answer the questions (1X4=4)

When the gong sounds ten in the morning and

I walk to school by our lane,

Everyday I meet the hawker crying, ““ Bangles,

crystal bangles” !

There is nothing to hurry him on, there is no

road he must take, no place he must go to, no

time when he must come home.

1. Name the poem and the poet.

2. What is the hawker selling?

3. The child wants to become.......................



4. The word ‘gong’ in the passage means

a) a cage b) a bell ¢) a clock d) a mental object that emits sound when one hits it.

Q.12 Read the passage and answer the question (1X4=4)
Though the houses and grounds belonged to my grandparents, the magnificent old Banyan tree was
mine- chiefly because grandfather, at sixty- five could no longer climb it. Its spreading branches,
which hung to the ground and took root again, forming a number of twisting passages, gave me
endless pleasure.

1.

Who is the speaker here ?

2. How did the old banyan tree become the author’s property?
3. What gave endless pleasure to the author?
4. Find a word from the passage which means the opposite of ‘pain’.
Q.13 Read the passage and answer the question (1X4=4)

This Pahalwan had but one shortcoming which often landed him in awkward situations . He was
fond of boasting. One day, he was sitting in the market- place surrounded by several young men.
a) Who is the Pahalwan mentioned here?

b) What was his shortcoming?

¢) Which awkward situation did it land him into?

d) Find a word from the passage which means ‘wrestler’.

Q.14 Answer the following question: (2X4=8)

1). What was Jumman'’s verdict as head panch?

il). How did Rasheed lose all his money at the lucky shop?

iii). Name the space shuttle which took Kalpana Chawla into space. What happened to it?

iv). What was the real aim of Miss Beam’s school?

Q. 15 Answer the following question: (2X4=28)

Q. 16

i). How did the monkey and the crocodile become good friends ?

ii). Why has sleep been called a wonder?

iii). Who made the pact with the sun ? What was it about?

iv). Who was Ray ? How did he communicate with his customers?

Describe the fight between the mongoose and the cobra. (4X1=4)
OR

What went wrong when the tortoises, snakes and lizards left the forest ? How did the forest

become normal and peaceful again?

Q.17 Answer in one sentence. (AX3=13)

1. What is Radha’s favourite activity?
2. What can free the thoughts from the prison of mind?
3. Where are the rattle snakes mostly found?

khkkhkkhhhkhkhhkkhhkkhhkhhhhkhkhhhhhkrhkkrhkkhdxkhhhrhhrhihihihkihkiixiihik



ddiey faearera afafa

arf¥e odier 2020
HeT : T VI 3% aA 3% : 80
v - fR=dr ) AT : 3 e
fder :- NSTIRAITF AR TS & -F, @, T3 T |

2) IRT W3 & 9T & 3R T 3fAarT § |

(&
(
(
(3) T T YEEAT Td Forg W fAAV et & |

("3 -& )
1. Pafaf@a T e @ 9o 3UF AT A QU v yeat & 3w R_/fQe - [5]
A GFEE T oA TeIRE & fdAhe oHL AHG g H T 1880 H
E3MT | 3eTehl Aediaeh &ATH AR T, foheq) 9 3¢ & A AR Ry & Jorde & A1
T OEd ¥ | 7 R ORcT & IRy 3USIEHR A | 3G YRy (@A e,
HaTHe, (A, FAA 3G & | T 1936 H 30 g €5 |
()9S T STwH H AR Fgl g3 ?

()3T aTEATdeh AT FAT AT ?
@udTE 3¢ AR Redr # frg 77 @ fowd & 2
(&n)3eThl JHE 131 & A faf@u |
(3.)39 @3 & fov 3T ofives faf@w |
2.3 I F Yo 3T& A QU v yeaT & 3R 9w - [5]

TS g A TF IAarel Bl 1 | 98 AT T gar g H 991 o7 | & T a8
ag?r-@raﬁﬁaq«q\aiaﬁqﬁauﬁmmm| AT 7 38 4@ oEl | A9 Uk U3 & A
JOH, 3HA WAT T | A I IR Far | 38 oA 318 IR 95 & IR0 | 39 U5 W g
T IR BT T | 3o ST of crdiarel & ¢@r b 386 @R W ad oY | Th-Ush aah el o
3R, A gt i TSN T AT Fepreray gget 3T 98 W ST I8 |

() U G H ieT I§dT AT ?

(@) ag AfIT SATHT Fgl ST 2T ?
(NITET H 38 &7 & ?

(&) U8 & A d&hL SdY arer o Fa1 fRar ?
(3.) 98 @ IR eI o &1 fohar ?

(@5 -|)
fAdenear 3w i -
3. ¥ W YA AT - ( ATell- ADC ) , (ST -STTNY) [2]
4 g A Aeg ARt fART - (%) HPA = ( T, W, HAT ) [1]
(@) qEET = (AT, P, 3G ) [1]

(3T) WER = ( ALY, WG, T ) [1]



5.9« §GfaT - (F) FdAR , (@) Ffrar [2]

6. far sgfaw - (&) o (@) AW [2]
7. faew v fof@ve (&) F91,(@) 6 [2]
8. 3% el F fAT UF Aeg FrveF ¥ A fAfAT - [2]

(@) ST HER e & = (AATAHR, JdeR |, DR )
(@) faezm & fow e =(qEahrer, faegrey, Sarey )
9. @ T HAT - 2]
() axar _ |
(@) 30 - = |
10. & - & - WA g Af@v (%) 3@ (@) T [2]

QN

11. afaf@a  quit ff argEd [_FRET - [3]

12. FsF ¥ T FAAH Asg T aFg 0 fAf@w - [4]

(&) ------- ey TeaT g | (&F/ H )
13. 99 & IR 9 defav - [2]
AHAT ;- qH AYAT BIAT 13T |
> 39 YT BT ABT |
(@) JH 39T ATH A |
(W) & I§ 3 T3 |
1499 & HTIR_aFT_ ey Af@w - [2]
Ao - A = o § |
>F T JE diar |

(%) # Thche WerdT § |
(@) T RBAAT @A ¥ |
15,999 % IJIUR 9T defaw - [3]
e - WA F urw A FE
> WA F Faw affe |

() el & 919 hold gl g |
(@) MNYTeT & U HERT & ¢ |
(a1) ofSeht & U Pediol G § |




(Ts -)
16.Amafaf@a sy gewy 3ud Ia A Ru v yeat & 3w [/fEw - [5]
Teh SiITel H 3I[ClIATS AT & Teh ST el AT | agagﬁﬁéﬁrmwgmﬁ
37Tel SATdTell I hshT gd JATAT AT | 98 3e¢ AR STAdT AT | T8 3eTerl JITIAT I HATAT FoATll
AT | 3 AT P Il H TgeIa AT | FAAT a1 38 AT g & | Tl AT 3809 g X
& 3R ST H G AT A |
(@) &I T g 9o @ forgr am=m § ?
@) 3HIferATe Sl A1 ?
) ST A SlAdTel @9l I 98 AT AT AT ?
) 3EH A ATH HFE AT ?
) olleT T oA A d ?
17. Prafaf@d st & 39 vF A1 @ arF & 5w -(Jregr 10 ) [10]
&) AT T fRedy T ToTar & ?
) “Gel “ Hidr frder fordr 2
) il 3 Gl TAdel @l G@HT AT R § ?
S g fagIrEnR ST & ?
S.) §eU o JHI[fHATST T 4T A far 2
) HATOY HEl S&HT AT I IgT AT ?
(%) Sfae o THU T FAT WA T TATE & ?
(37) SR HA Flef-Hled @ qhhT ¥ § 2
(37) 9T fadshleie TARS Hd qgu& g ?
(37) Tohegl AR I & o fGear & fAf@uw |
(€) dRT & g | FIT T{AT AT ?
(S)EraTell & JTE W HAT HI FIT AIfgU ?
18. ®IsHh @ WE 3T AP AqFT T HIIAT - [4]
( g8g , qde, g, gerfa,)

q 4

(
(
(
(

W

Il

o)

(
(
(
(
(
(

4. 9% ¥ THA FH - g |
19.3aX o gt & faf@v- (g 3) [6]
(F) QT T WA F FAGANT H AT @ TS § ?
(@RTE & 8 T 3EIR FAT el 1T & ?
(@NBIR o T &Y AT M F HAT F47 fhar ?
(ETeRTeT # S 3R Folrar & - 1 & ?
20. farafaf@a wfadar omer geaR g8 v el & 39 fAf@w - [4]




@T-OE 9@ TR, T HA & A § |
Hierdl 5T TFE G @l Bl & TR ¢ |
T-fOET 9G JFER |, HEHT Hel ofeldrd ¢ |
forerelr Tt , facdelr et a5 F5 @l gona € |
() 3H HIAdT & Hfd & ATH FT & ?
@ T FaadFad ?
) fadaferar e STt HEHT & ?
o) fadell & &1 Hga Jord & ?
( @5 -9)

(
(

21, AN & FROT ) feT A P Al gU g & AF w97 fafgu -

(3rar )
3(9el T & SR H §Ad §U, WAl & 7 Th 97 dIR AT |
22. 7 v Avy W IS AfEvw -
(@) AW ORI AER |
(@) A e |
(31) AR M |

%k 3k % %k %k %k *k k *k k

[5]

[5]



Navodaya Vidyalaya Samiti

"arey faemera wfufa
Annual Examination 2019-20
arffe af¥ai 2019-20
Class: 6
DET: &
Subject: Science
fawg. fagm=
TIME: 3HRS MAX. MARKS: 80
General instructions:
1. All questions are compulsory however internal choices are given in five marks questios.
2. Question paper consists of 32 questions and it is divided into five sections A, B, C, D and E
3. Draw neat and well labeled diagram wherever required.

g e

1. g4 gy sifFard € AfeT 3iidfep faseu uig sl Uy H feu U g

2. UYTIH 32Uy € AR U Esi v o, W, < 3R S & fyunfora fpar smar 21
3. 578t off STIRaeHdT BT TH-YRT 3R 33 aRE q Ad [T 31T 3T F1¢ |

SECTION-A (ONE MARK EACH QUESTION)

1. Which of the following is difficult to dispose?

1) Vegetable matter 2) Paper  3) Cotton 4) Plastic
1. Frofiiea & & g Fuer g 22

1) I Uard 7312101 i M K= 201 £ I v || Rt

2. The presence of air around can be proved by

1) Feeling it when moves 2) Smelling it 3) Its color 4) Seeing it

2. IRI 3R 841 &1 IJufRfa A1 Pt ot Tl § |
1) O IdT ¢ I8 39 HEqE BT 2) ST 3) IYDTIT  4) T AT

3. Common salt is obtained from sea water by the process of

1) Combustion 2) Conservation 3) Evaporation 4) Condensation

3. YR THS JHL! oI I U Bl &
1) g8 2) TREUT  3) ATSIHIOT 4) G-

4. The alloy used to make magnet is



1) Alnico 2) Soldier 3) Brass 4)Bronze

4. IH ST & o wg e ey g ©

1) TaRPT  2)dieoRk 3) Uidd 4) B

5. When a person living in plain area goes to mountains he/she breaths

1) Slower 2) Change person to person 3) Same rate as plains 4) Faster

5. 519 HeHT &5 T X8 aTel fad UgTel WR Sl 5, 4 98 9 ol &
1) i ) Tffd Pl AT A dga  3) A SATh! & IHM &R 4)a

6. A students is on a swing, name the kind of motion.
6. U B A W g, A HT A Famd|

7. ldentify the diagram given below-

7.9 feu U T &t uga &e-

8. Name the box formed by chest bones and backbones together.

8. B &1 gfgal 3R $g #1 g1 I e a4 ok &1 9 adr=zu|

9. Write the term used for the materials which allow electric current to pass through them.

9. 31 AT & fore gerd 2req ford, o1t fagygd UaTg &1 39 J1ery 9 ok o1 34fd <

g
10. Define the term reflection.

10. Xsg Ufdfsid 1 TRHTR B< |

SECTION-B (TWO MARKS EACH QUESTION)

11. Why do bulbs have two terminals?

11. Seal B gl A R Bl &2

12. A football match is being played at night in a stadium with floodlights ON. You can see the
shadow of a football kept at the ground but cannot see its shadow when it is kicked high in the

air. Explain.



12. U Wfeuy & I T U Pedld Hd Gasarge 3 & 1Y Wl off 38T g | 37 STHF W)
T peald &) BT 48 Ahd ¢ Aidh gal § Sl Ald AR IR 396! ST 16! ol 9dbd | &
IR ¥ §ard|

13. What do you mean by source reduction of wastes?

13. IR & Aid | HHI BT T Adad g2

14. Why does the policeman on the traffic crossing wear a mask?

14. S IR IR Qe H! ARG o1 Ug-TdT 872

15. Why does a lump of cotton wool shrink in water?

15. HUN B! U T gt § i Rigpre et 82

16. Write the names of the parts of a flower in sequence, from outside to inside.

16. T% B o YT & -1 A I ford, 18R ¥ 3R d |

17. Three students measured the length of same wall. The results of these students are different.
What might be the possible reasons?

%%ﬂ%@ﬂa‘rfrwﬁ IR P aTs AU 59 ST B RO 3ieT § | YHIAd SR 1 8
?

SECTION-C (THREE MARKS EACH QUESTION)

18. What is the purpose of using an electric switch? Name some electrical gadgets that have
switches built into them.

18. ZAfde e ad BT IUUNT H FT I T 82 TS (S0l & SUHRUN &1 A1 I,
o9 g fAffa |1

19. Match the column A with Column B.

19, HTAH A B BiaH B I fAamg|

Column A/ BTTH T Column B/ ®iad &
a. Torch/ HRITcl i. To make lassy and spice paste./aFﬁ 3R HHTe URe §9H & ferg|
b. Fan / 4T ii. To see picture. / FoR ¢TI
c. Mixer-grinder / THRR-ITSER iii. To get air. / €91 UM & forQ|

20. Match the following:

20. FafoiRaa e &3



Column A/ﬁﬂﬁﬂ, Column B / ®Te¥ &t
a. Conductor / SR i. Used to join battery and gadgets. / St 3R J\Ixﬁcﬁi el \gga )
b. Plug-key / Wﬁﬂ Ii. Used to close and open the circuit / fdhe B! 8§ B @T@Eﬁ%ﬁﬂ
c. Connector / ISl Iii. Through which current pass easily. 1 o e S ¥ BISRGI gl

21. Differentiate between sedimentation and decantation?
21. 3faHTE 3R &7 & sId 3feiR §aTT 2
22. ldentify the types of leaves (a) and (b) given below and mention two difference.

22. 12 feT T TRl (@) 3R (@) & UBRI &1 Uga B 3R Gl 3R] BT I He |

23. How will you measure the length of any curved line?

23. 319 foraft 1Y gHIIER Y1 & diaTg o HIU?
24. Give the main functions of each of the following:
24 FEId A Y IS » A PA <

1. Root/¥C
2. Stem/¥H
3. Leaf/qdl

25. ldentify the type of motion in reflected in pictures given below and define it.

25, 17 &) S AR H uRaAfard Tfd & UBR Bl Uga 3R 39 URHIRG B3|




w

SECTION-D (FIVE MARKS EACH QUESTION)

26. What is a bone joint? Describe various kinds of joints found in our body.
26. TSI 1 SIS &1 82 BAR TRR A UTE o aTal fafist R & St o1 9o &3 |
OR /I
Discuss the mechanism of bone movement. What is the role of muscles in the movement of
bones?

TSP A1 & oF W Idl B | gl 1 Ifd T AiqufRet e Jftret &1 82
27. What type of motion do the following objects have?

27. FofaRad axgaf & fod yeR @1 71fd gid 82

the galloping of a horse / Qwaﬁww G:IS_ Al
the needle of a sewing machine / Wﬁﬁlﬁﬂ?ﬂ?aﬁﬁé
the movements of a mosquito / H=dX P A

the blades of an electric fan / Tdh fooTclt & U & IS .
the smoke from a lighted dhoopbatti. /3FRexit I g ara 43|

oo T

OR /4l

Define and give two examples for each of the following motions:
fafeiad il & 9 U & o &1 Iarexull & aRwIid & 3R &

i.  Linear motion / X@T Tfd
ii. Spinningmotion/WTi“T%

28. You are given an iron strip. How will you make it a magnet?

28. 3T U AIQ HI US! &t STt & | 31T 3 Gabh bl FTE?




OR /Ul

How can you show that unlike poles attract each other while like poles repel each other?

31T 2 fzar v § fob fauRia sja U ¥R 1 ST fiid o 9T faudia ga teh gak &l
faepfiid Pd &2

29. How can we see dust particles present in the air?
29. §H g1 H HIN[E Yo HUN B! Y 3W b 62
OR /Ul

How will you prove that oxygen supports burning?

3T S ifad B fo ST ST BT g7 Bl 22

SECTION-E (PISA type question)

30. Read the following paragraph carefully and give answers to question follow.

Students of 6™ class of Jawahar Navodaya Vidyalaya, Surendranagar participated in Swatch
Bharat campaign to collect garbage from nearby village. Teacher divided students into two
groups and asked them to collect garbage in two separate bins. Students separated garbage in the
bins provided for separation of biodegradable and Non-biodegradable as follow-

30. FuforiRad TREM® &) ea A U 3R UY & IR S|

SdTeR Ad1gd faeTerd, YITR & 6 df H&T o SHI A U &b T Y HaRT DG B o (oY
e HRA AT & HT foran | Rieres = S &1 <1 wigg! | fauiford fovan $ik 3% &l sia-
3T & T FaRT SHGT B & (AT Hall BE! A IRfSISad iR IR-aRfSISad &l
3T A & 7T T fhT 7Y fEa T T S1e-SienT 3T &-

Group | Biodegradable garbage Non-biodegradable

A Dry leaves, Vegetables ,Paper bag and Tea Polythene bag, nail, aluminium
leaves wrappers and glass bottles
U gt uftr, gfesral, TR 97 SR A BT | TiferiF ST, e, Tegeifed
gt S{TERUI 3R Hid B diact

B Dry leaves, Vegetables , tea leaves and Paper, Nail, Aluminium wrappers and
Polythene bag Glass bottles
giferedi= o ®id Pi didd




Analyze the below given graph and answer questions follow-

1 fou U U 1 fazayur H3 3R Faral & ST <-
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30.1  Which group among two groups made mistake during segregation of garbage in
biodegrable and non biodegradable?

3 IRl § ¥ for Tg A Srifsdad SR A1 daifSUsad | Ha’l YYGHRU & SR
eI B2
30.2 What is biodegradable substance? What happen when we put plant leaves in dig pit?

IAISYSad Uard 31 g2 1 8IdT § oid 89 UId &1 ufrdl &1 718 H STald 82

30.3  Study the data represented in graphs above and mention which group collected more
biodegradable garbage.

SRS T H TR T STT HT ST B 3R Ie0id Px (o by Tig A 31w
TSI FeRT Th AT [HaT §

30.4 Several times you may have noticed burning of husks and plants leaves. Can you suggest
better way of disposing it?
H3 TR I UN-59 3R Greff o1 afkidl &1 STerd ¢a1 g | T 319 39 fAge™ &1

SR AT YT Thd 82

31. Read the following paragraph carefully and give answers to question follow.

Paheli has five members in her family. One day she decided to estimate the amount of water used
by her family in a day. She listed all the activities for which water is used in a day. Table is give
below-



FofRad TREM® & & I U 3R UY IR BT FWR <

U & URGR & Ui 9aw §1 Ua 3 399 U fod o oiv ufaR gRT 3wdTd fhg o
qTdt U &1 T BT SITHH T BT had fhar | 399 37 Tt nfafafa o Yt fean
1 forT Uit &1 SuanT U fom H fopan Siran g 1 arferest i & 71 8-

S. No. Activity / TTafdfer Amount of water used in litre / feTeR T orRged Tt
EIRIIE

1 Drinking / TH 20

2. Brushing / ST 3

3. Bathing / &1 100

4. Washing utensils / - &9 | 50

5. Washing clothes / dg T | 90

6. Cleaning | BT 20

7. Any other / 3= 10

31.1 Determine the average amount of water used by Paheli’s family members. Which activity
requires maximum water per day?

Tl & URAR & IS gRT IYTNT b1 S aTel Ut b1 3Nqd 71 o1 FefRor 3| forg
Tfafafd & forw ufa fam siffirdm Uit 1 srawgear gidt 82

31.2 Suggest any other two activities for which water is used.
foaft o gt nfafafert &1 ggme e fow it &1 Iy far Srar g
31.3 Find the consumption of water in a Village of 475 members in a year?
TP I8 H 475 Y&RI! aTel 7l H YT 1 @Ud BT Yl ag?
31.4 How much surface of earth is covered with water?
gl 1 fbe1 afg Ul A gl 82

a) 2/3 b) % c) ¥ d) 3/5

32. There are some changes that can happen in an organism over a period short period of time to
help them adjust to some changes in their surroundings. For instances, if we live in the plains and
suddenly go to high mountain regions, we may experience difficulty in breathing and doing
physical exercise for some days. We need to breathe faster when we are on high mountains.
After some days, our body adjusts to the changed conditions on the high mountain. Such small
changes that take place in the body of a single organism over short periods, to overcome small




problems due to changes in the surroundings, are called acclimatization. These changes are
different from the adaptations that take place over thousands of years.

%o TRad U8 BId § S fpdl ol # o2 I99 & 3dRId W & Tobd ¢ dlie I 30
U= § 3 Jeardl & YHEINT &3+ | Hag Hd 9o | 3arevull & forg, afg g9 dam! o
Wd § 3R @M I yddid &1 § 91d §, d g5 o9 Al & fow 99 o ofk Iiife
AT HRA | BHIST8 BT IHT Bl Thdl gl 56 89 Hd UBTSI R 8Id & ol g1 ot I I
T P TR Bl B @Tﬂ%ﬁﬁ%aﬁ BART TRR S UgTS W daelt g3 uRfufaat &
AT FRT ¢ | 39 T8 & BIc-BIc daad o [yt Ht Sfig & IR & HH 90779 & oy
BId &, 3MTYURY & Saldl P BRUT g aTell BIE-HIET THEmal & ¥ 3 & forg, uRfRufa-
3IHT BT Al & | T URacH Rl au § 814 aTdl SfJda ¥ AT ] |

32.1 Which of the following term used for presence of specific features or certain habits, which
enable a plant or an animal to live in its surroundings?

a) Adaptation b) acclimatization C) habitat d) environment

fafafad 4 9 fod 2rs &1 I fafkiy faRivarsti o1 e sired! &1 Jufufa & o fear
AT g, Sl U MY T AR bl 3P ST g H J&H F11 82

a) SfIg b) @RI c) I d) TafaRor

32.2 How human cope up with changed conditions on the high altitude?

Od $dTs IR daat uRfufadl § 9 Fuedr g2

32.3 Identify habit given in the picture below and write its adaptive feature in such habitat.

2 €t 7S AR H € IS ofied B U R U AE & SN | 3B IR [l
ford |




32.4 Give any two examples of terrestrial habitats.

R a9 & &l IgTeruI ¢ |
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Instructions:
o

. This question paper has 35 questions in all. All questions are compulsory.

9 U U H @l 35 U & | A U Afard 2 |

. Internal choice has been given for some questions.

B IeAl & o arfaRe fawed Ry 1y &)

. Marks are indicated against each question.

T ge & | FeiRa ofw ford gg 21

. Questions from 1 to 20 are multiple choice questions carrying 1 mark each.

TR G 1 W 20 TF 9g-—fAbl U B U9 Udd @ forg 1 3fw MuiRa 2

. Questions from serial number 21 to 28 are short answer questions carrying 3 marks each.
T AT 21 ¥ 28, O 3@ Tl TSI U T

. Questions from serial number 29 to 34 are long answer questions carrying 5 marks each.
T AT 29 ¥ 34 Tb QrH—Iwid U 2 | o F uR&e & oy 5 3 FEiRd € |

. Question number 35 is a map question of Six (3+3) marks. After completion, attach the map inside your
answer book.
T AT 35, B (3+3) 3 BT AR B © | AT B & YA W SaR—gRAPT B e Tl B |

PART- A [Objective Type Question]

A3 (Fgfapadt ¥e)
1. Nalandais situatedin ................... state 1
@) Uttar Pradesh (b) Madhya Pradesh (c) Bihar (d) Goa
51 A, Iy # Reg 22
@ SRER] (b) TSN (c) fa=r (d)
...................... is believed to be the author of Sanskrit Ramayana. 1
@ Tulsidasa (b) Valmiki (c) Kalidasa (d) None of these
................... BT HEHA TRV BT AGSH AT ST B |
(@) gordiar (b) arifes (c) reierE (d) 3 9 B3 TE
. Ring wells were used for ................. 1
@ bathing (c)  washing clothes
(b) irrigation (d)  drainage
TATG BT T M.crereeerererrre & forg e e o |
(a) EM @ forg (c) wus am & fog
(b) Riaré @ forg (d) o fom @ fog
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. Where is the lion capital situated? 1

@) Sarnath (b) Vaishali (c) Kalinga (d) Patliputra
IR Il &9 Har Rerd 3?
(a) HRATT (b) CNICH] (c) wfer (d)y  uifeerg=

1
@) neem (b) peepal (c)  banyan (d) sal
TE BN T B T IS & T g3 |
(@) NG| (b) figer (c) =" d) w=
. Identify the following image. It is a....... 1
e o M o 9 TEE | 98 T e
@ Temple (d) chaitya
(a) HfeR (d) A
. What were the large landowners in the Tamil region called? 1
@ adimai (b) vellalar (c) uzhavar (d) kadaisiyar
e 3 g3 —IHG BT FT BT ST AT?
(a) Jfewg (b) JeATAR (c) S=mR (d) HEIRIAR
. Which of the following is believed to be the oldest book in India? 1
@ Rigveda (© Yajurveda
(b) Atharvaveda (d) Samaveda
ARG § AdaH s {6 AT Srar 87
(a) FIAT © agde
(b) SRECE (d)  <amae
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9. The solid portion of the earth on which human beings live is called.....? 1
@ Biosphere (© Hydrosphere
(b) Atmosphere (d) Lithosphere
Tedl T 3 91T o TR AMa Siiae I T ST §, 991 HEdrdT 87
(a) NIERSE (c)  IoHsd
(b) argHsd d)  msa
10. Which of the following mountain ranges is found in Europe continent? 1
@ The Himalayas (©) the Alps
(b) The Andes (d) none of these
frfoRed # & #1941 wda—g@en RY AEET F IR SR 57
(@) femrera () e
(b) S d) A BE
11. One of the following rivers does not drain into the Bay of Bengal. Identify. 1
@) Narmada (b) Kaveri (©) Mahanadi (d) Godavari
T W TP T §Ta B @rer 7 78 R §1 859 wgE |
(@ T (b) BHIRY (c) EREE () RIEER
12. Which of the following planets is the nearest to Sun? 1
@ Mercury (b) Earth (©) Mars (d) Jupiter
T &1 99 Fpedw 75 $i9 41 87
@ g (b) ged (© (d) gewf
13. What is catamaran? 1
(@  fish (b) fishing net (c) watercraft (d) fertilizer
DHERA R 8?
(@ o (b) STl (© A (d) ==
14. Which of the following gases is most abundantly present in the atmosphere? 1
@) Nitrogen (b) oxygen (© carbon-dioxide (d) argon
arIgavsa # faa 1 @1 ufoea waifte 87
(@) g (b) MR (C) Frad—ss—anaargs (d) =mi=
15. Where can a mangrove forest thrive in? 1
@ Fresh water (b) saline water (c) polluted water (d)  none of these
A9 g9 Haf I T 27
(@) 9% 9« (b) @RI 5T (c) usfa v« d) s aFETD
16 o is the largest state in India? 1
@ Maharashtra (b) Madhya Pradesh (c) Uttar Pradesh (d) Rajasthan
BT B GRE Ferorverrrrn AR BT G §T Y 2 |
(@) BRI (b) AU (c) SR uw (d) <o

Page 3 0of 8



17. The city is divided into several................ 1

@ wards (b) councils (c) panchayats (d)  blocks
RIS 1 L A, # <1 gorr B 27
(@) arst (b) Bl (c) duma (d) fe™ ave
18. Who is responsible for organizing the collection of land revenue from the farmers? 1
@) Patwari (b) clerk (c) Tehsildar (d) Sarpanch
feaml & <o 6 agell o fag 9 Rrder g 8?
(@) EECIN (b) oo (c) dEdeER (d) wxT=

19. Based on the following diagram of a farm worker, find out how many months he does not get to work.1
= Ry U v S 7oy & |t SRR S@e) Ia1st fF S9 a¥ § fFan 7 W TR e 87

@) Three (b) Four (c) Five (d)  Six
@ 3 (b) 4 (©) 5 (d 6
20. Elections for gram-panchayat is held every ....................... 1
(@  4years (b) 10 Years () 6 years (d)  5Years
YIRI| BT AT fhas I87 @ SRIl § FHRET ofrar 87
@ 4 (b) 10 9§ (©) 6 a§ (d 5ad

PART- B [Short Answer Question]
Y4 (T—S 93)

21. What were the questions that Upanishadic thinkers wanted to answer? 3
Sufegl @& A | faarRs 5 geel &1 SaR <A 9aEd o

22. On the basis of the image given below, answer the questions that follow: 3
A T i & MR R AAfaled v &1 SR AR |
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(i)  What is shown in the image given above?
39 o # @ <@ {7

(i)  Mention any two features of the civilization associated with the image.

39 o 9 Hefa wger 9 & e fafag
23. Why is the earth termed as the ‘blue planet’?
gedl B Al Ug' FT Pl SIral 87

24. Match the following mountain ranges with the country where they belong to:-
9 Ry 17 gda—sjenst & S99 2 @ Ay A= AR |

A B
The Himalayas f2arera Russia =&
Ural gxrer Africa srerer
Kilimanjaro faferiaRr India wRa

25. Make a list of function of a gram-panchayat.
Y J9d & TG BRI P G 8772

26. Who was Bachchu Manjhi? Why did he migrate to city?

T High B9 o? I8 TeN T AT A7

27. People from the village Kalpattu performed various non-form activities. Make a list of such

activities.

FEUCE M B AN Wl B AT iR F FF M IR I | ST AN I8 |

28. Look at the image carefully and answer the questions: -

R M o eagEs <@ 3R fifea gl a1 SwR T

AOA N

(1)  What is being held in the image above?
9 o | @ & <@ R

(i) Which problems of the village Hardas were discussed?

T8 EXG TfT B fH wEet W gt @ &
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PART- C [Long Answer Question]
Y- (Ere—Sag 79 )

29. What do you know about Ashoka’s dhamma? What did he do to spread the message of dhamma.5
ANMP & T | A FIT T30 8¢ I & TR & forg aelies ° T armi &1 wanr fhar?

30. Match the following: -

or

What were the main teachings of the Mahavira? Explain. 5
HEER b 7 Riemd @ off? quiq S|

fr=feRea aiferer &1 e ST |

A

B

(i) Stupa
Aoul

(@) Circular path around the stupa
U D IRl AR JATDR G |

(ii) Shikhara
Rrer

(b) Tower
RSkl

(iii) Pradakshina patha
g ger

(c) Place in temples where people could assemble
Af+X # @ ® §H30 B9 & oFTE |

(iv) Garbhagriha
T e

(d) Mound
et

(v) Mandapa
HUSY

(e) Place in temples where image of the deity is installed
<4l qaarell @ Hfd Wi &R P SE |

31. What are the major physical divisions of India? Name them. 5
ARA @I foa= wifde et # favifora fsar o o 8?2 S99 fafag?

32.

33.

or

Why does the Southern Hemisphere experience Winter and Summer Solstice in different times than
that of Northern Hemisphere? 5
gl More & ST Moare B ST SR Vd AT BT ST M T—INAT T | grar 8| NP
()  The river plains are densely populated areas. Why? Give reasons. 3

AN 9T O ST I & B €, 7 HROT qarsy |

(i)  Rising population is a huge problem now-a-days. What suggestions would you like to give to

tackle this problem?

2

T STIEEAT AT B TS TR ¢ | 39 99T & FeH & fog o o= gena < =me?

In the two photographs given below you can find different ways of collecting and disposing garbage.

Based on this answer the following questions:
A & < R § T HET sHcoT H TF S FHM v 9t fafi it @1 <@ wad § 1 39 W smRa

Image-1
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i)  Which way do you think provides safety to the person disposing garbage? 1
I & fIaR & #9 4 AY Gz &1 FuerT o 9 =nfaa & forg @R 272

i) What are the dangers of collecting garbage in the manner shown in the second image? 2
T o3 9§ FeT DT BRA BT Sl DT &R 7 T SHH FI—FAT SRaH 27

iii)  Why do you think that proper ways of disposing garbage are not available to those who work in

municipalities? 2
MY T Gred & 6 S AT TR FE § $9 R § S U g3 @ MUeRT 3 e giem @t
T &7

34. Sudha is a permanent and regular worker whereas Harpreet is a casual worker. Compare their
conditions with the help of the given table. 5
T & I 3R FRIfia R | siefe 9 I s weigy © | Ry Y aiferer @ wes W Seer Refd @
o BT |

Sudha Harpreet

Salary

kSl

Saving for future

TN & foQ go

Holidays

DT

Medical facilities for family
TRaR & foq fafeen glemd
Others

Y

PART- D [Map Work]
WT—5 (AFRE BR)

35 (i) On the given outline map of India locate and label the following major cities under Mouryan

empire:- 3
TR @ iy Ty woitle TR § 49 as @ owria Ry v v o @ sifdd R SIe W
foRag |

Patliputra, Taxila and Ujjain
qreeigd, TEfRrer iR S
(i) On the same map three physical features of India have been marked as 1, 2 and 3. Identify these

features and write their names on the lines marked near them. 3
I qFRE ) 9RG @ DS o 9ifdd wWe 1,2 3R 3 © WY § sifed 3| ST IZUM X S99 AF gy |

Page 7 of 8






JAWAHAR NAVODAYA VIDYALAYA SHAHKOTE
Class: VI Sub: Mathematics M.M: 80
Section — A (1x10=10)
Ques. 1: (A): Fill in the blanks:
1) The smallest 8 digit numbers is called as ... (Ten lakh / one crore).

2) The only even prime no. is ....
3) Two number having only 1 as a common factor are called as ....
4) The solutions of an equation 2n=10 is ---.

5) Chord of a circle which passes through the center of circle is called as ---.

(B): Choose the correct option:

6) Which among the following has fixed length:

a)aray b)aline c) line segment

7) Which among the following is divisible by6:

a) 12796b) 24684c) 15345 d) NOTA

8) Which among the following whole numbers have no predecessor?
a)o b) 1 c)10 d)100

9) H.C.F of 27 and 63 is: a)9 b)13 ¢)27 d)3
10)%Th of 100 isequalto: a)25 b)75 «c¢)66 d)50
Section — B (2x8 = 16)
Ques.2: Write the prime factor of: a) 42 b) 50

Ques.3: Find the LCM of 27 and 108.

Ques.4: Express the following as mixed factorial: 1) % b) 1—69

Ques. 5: Write the following as decimal: 1) 70 + % 2) 3%

Ques.6: Find the area of a rectangle those lengths is 10cm and breadth is 5cm.

Ques.7: Write all the factors of 24.

Ques.8: What do you mean by a straight angle and a reflexangle?

Ques.9: Draw any circle and mark: a) its centre b) radius c) Diameter
d) a sector

Ques.10: Write 69 and 98 in roman numerals.

Ques.11: Find LCM of 24, 30 and 60.

Ques.12: Find the value of ‘X" in the following: a) x+7=17 b) 10x = 80
Ques.13: Find the prime factors of 980.

Ques.14: What is the HCF of two consecutive: 1) numbers b) even
numbers c) odd numbers

Ques.15: Write the fist 6 — multiples of ‘6’.
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Ques.16: Find the product of following using distributive property:

a) 72x101 b) 5437x1001.
Ques.17: Write the predecessor and successors of:
a)94 b) 10000 c) 10999

Ques.18: Estimate the following sum (nearest ten):
a) 439+334+4317 b) 730+998+104
Ques.19: Insert commas suitable and write the names ass to Indian system of
numbers:
a) 87595762 b) 8546283
Section - C (4x6 = 24)
Ques.20: Fill in the blanks:
a) 1lakh = ... ten thousand.
b) 1 million = ... hundred thousand.
c) ... Million=1crore.
d) 1km=..meters.
Ques.21: Find the value (using distributives of multiplication over addition):
a) 297x17+297x3
b) 782x25+218x25
Ques.22: Express the following as sum of 2 odd primes:
a) 44 b)36 «¢)24 d)18
Ques.23: The length, breadth and height of a room are 825cm and 450cm

respectively. Find the longest laps which can measure the 3 — dimensions of the room

exactly.
Ques.24: Find the sum: a)§+§ b) 1§+ 3 §
Ques.25: Match the items in column (1) with the items in column (2):
Column (1) Column (2)
1) 35 a) Multiple of 8.
2) 15 b) Multiple of 7.
3) 16 c) Multiple of 5.
4) 20 d) Factor of 30.

Ques.16: Find the product of following using distributive property:

a) 72x101 b) 5437x1001.
Ques.17: Write the predecessor and successors of:
a)94 b) 10000 c) 10999

Ques.18: Estimate the following sum (nearest ten):

a) 439+334+4317 b) 730+4998+104
Ques.19: Insert commas suitable and write the names ass to Indian system of
numbers:

b) 87595762 b) 8546283

Section - C (4x6 = 24)

Ques.20: Fill in the blanks:
e) 1lakh=... ten thousand.
f) 1 million = ... hundred thousand.
g) ... Million =1 crore.
h) 1km =... meters.

Ques.21: Find the value (using distributives of multiplication over addition):
c) 297x17+297x3
d) 782x25+218x25

Ques.22: Express the following as sum of 2 odd primes:

a) 44 b)36 c)24 d)18
Ques.23: The length, breadth and height of a room are 825cm and 450cm

respectively. Find the longest laps which can measure the 3 — dimensions of the room

exactly.
. 4 2 1 2

Ques.24: Find the sum: a)§+§ b) 1§+ 3 3
Ques.25: Match the items in column (1) with the items in column (2):

Column (1) Column (2)

5) 35 a) Multiple of 8.

6) 15 b) Multiple of 7.

7) 16 c) Multiple of 5.

8) 20 d) Factor of 30.
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